










Statements:

A few balloons are not toys.

All toys are bear.

No bear is wild.

Conclusions:

No wild is a toy.

No balloon is wild.

EXAMPLE

कथन: 
कुछ गुब्बारे खिलौने नह ींहैं।

सभ खिलौने भालू हैं।

कोई भालू जींगल नह ीं है. 
ननष्कर्ष: 
कोई वाइल्ड टॉय नह ीं है।

कोई बैलून वाइल्ड नह ीं है.



Find the Odd (?)

(A) Tellurium / टेलू्यररयम

(B) Francium / फ्ाींनसयम

(C) Strontium / स््टो ींनटयम

(D) Scandium / स्कैं नियम



Find the option which should replace (?)

13 : 338 :: 14 : ?

(A) 329

(B) 368

(C) 392
(D) 386



Find the option which should replace (?)

SHOULD : ITFLEM :: REALLY : ?

(A) FSNZZM 

(B) FSOZYM

(C) FSOZZM
(D) FSOOZM



Find the option which should replace (?)

29 , 88 , 265

(A) 33 , 100 , 301  

(B) 24 , 73 , 229

(C) 31 , 93 , 280
(D) 26 , 79 , 237



Find the option which should replace (?)

76 : 39 :: 46 : ?

(A) 12

(B) 14

(C) 21
(D) 41



Find the option which should replace (?)

Unmarried Barber , Father , Barber



Find the odd (?)

(A) 441 , p 

(B) 331 , i

(C) 622 , z
(D) 233 , r



Find the option which should replace (?)

534 : 216 :: 286 : ?

(A) 676  

(B) 548

(C) 458
(D) 736



Find the option which should replace (?)

B : 16 :: D : ?

(A) 64  

(B) 120

(C) 256
(D) 128



Find the missing  :-

1. 49
2. 36
3. 50
4. 55
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6 8 5

24 8 ?

2 1 2



Find the missing :-

(A) 1
(B) 2
(C) 3
(D) 4
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2 4 14

3 5 22

? 6 32



Find the missing (?)

1. 14
2. 16
3. 27
4. 25
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28 22 48

52 15 17

14 14 27

7 ? 16



Find the missing (?)

1. 43
2. 44
3. 55
4. 56
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9 8 7

45 ? 42

6 3 5



Find the missing :-

(A)16
(B)12
(C) 28
(D)13
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5 4 3

8 7 1

6 2 9

38 15 ?


